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- There are 100 questions in this paper. All the

questions are compulsory. Each’ question carries
one mark. :

There are sheets, for rough work at the end of
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Serial Nos. of all the question are written on the
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Mark answer on separate Answer sheet given.

Time for each question is short, keep time in'your -
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(A) vdg

(B) vpg

©) vip-dg

- (D). v(dp)g

A body is thrown vertlcally upward with
velocity U. Then maxnmum height
attained by the body wnll be_- '

1

(A) 28

U2
None of these

Whlch of the followmg is the smallest unlt-
Fermi

(B) Micron

(C) Milimeter

(D) Kilometer

The current in the given electric circuitis-

@) A

®) 1A

(O 2A

D) 3A

A body of volume V and density d is

" completely immersed in a liquid of |

density p then the apperent weight of the
body will be - o

(A) vdg

(B) vpg

©) vip-d)g

Oy v(dp)g




W 5.

U1 6.

e 7.

T 8.

U4 9.

TP 4T HT ATIdH IR '{[}miﬁ 9@ The co-efficient of cubical expansxon of

72x10-59ﬁﬁaﬁ3%amm a metal is 7.2 x 10-5 'C” Then its
TR ToTich BT _ superficial expansion will be -
(A 2470 ¥ , A) 24 C*
(B) 4.8 T ITrs o 413{ 48 ‘¢’
© 7.2 9y FEs - ©12°C!
(D). 3;11# J P TE _ (D) None of these
TH <Y1 W) iR§ &1 AT, Men 3R Qn6. A mirror forms a virtual, erect and small
Bl Hﬁlﬁﬂ CEIG)| % @ S 3"5‘01 kil image then kind of mirror is -
THR &~ |
(A) T o ~ (A) Plane
_ (B) 3@Edd - ' (B) Concave
(C) S« ' N(o1 Convex
(D) A9 B I | (D) Aand B both

L %ﬁ H%?ETE P GBI ’Eﬂ?ﬂ%— Qn7. Thetimeperiodofl_l_,ourneedleofcl'ockis;

(A) | " (A) 1hour

B) 24 € _ : ' (B) 24 hour

© e6wa (C) 6 hour

(D) 129 i : \g))/IZhour |

'dﬁﬁ il 'Gﬁ TR ¥ By : Qn 8. Lightning conductor-.is madg of -
(A) el < (A) Tron

(B) 9™ JBS Copper

© f=m. (C) Tin

(D) oBS! | (D) Wood

T UM &1 99 50 SR U1 5 Whs  Qn9. A water pump raises 50 liters of water

¥ 25 Hiex N Fu1E 9 g & . UP to a height of:25 meter in 5 second.
Lt ST & TIfeR BT ~ Then the power of water pump will be -
(A) 25007 | (& 2500 watt |

(B) 6250 dlc v (B) 6250 watt

(C) 125074 | ~(O) 1250 watt

(D) 625 e . (D) 625 watt




99 10. T It o & HU A 4R B Qn10. If the upper half of convex lens is

Bl B QA s @ s wrapped with a black paper, then how the
T a1l afifde o) HE vae 9T image formed by it wiil be efiected -

ﬁ¢>

(A) PINIEE W BT IAEN HH BT il (A) The size of the image 1 reduced to
& | o _ ' one half
(B) RIS B S WA HH B I & (B) The upper part of the imageis reduced
© Hﬁlﬁﬁ[ &1 g1 H9 B ST B | ‘gQ The intensity of the image 1s reduced
(D) YRfds W BE YHE T8 gl Bl (D) there will be no eftect on image
U 1. TH qAdR U ¥ 1 Q“?RT\' B URI9E  Qnll. A circular {oop carrying current I then
T A GO T 1 B AEE 9 | " the direction of the m_éxgnetic fieldat the
Hg ¥ D! ﬂﬂﬂ%ﬂ a3 &Y ﬁ?ﬂb centre with the help of saguetic lines of
- o force will be - ’
L "
'T“)l P 5 ,
SRS ES N2 SR £ S
© *‘sj? Ty DSy (o W @

{12, ﬁ'g?i ﬂ‘eﬂ‘i wﬁﬁs%’q ettt SUYeRi Qn12. For making au electr(miagnet the most

TRl B B— ' suitable material is -
(A). RN e (B) Wi (A) Staimiessstee] (B) Silver
(C) sA @@ (D) e {Gr SoftIron (D) Nickel

9T 13. frad 9 ﬁlﬂﬁﬁ TP HHH ﬁﬂ?ﬁ”ﬂ &‘T@T Qn 13. On which of the following dues not exert

¥ @ W B8 9a@ IRifra =l any force when kept in unifform magnetic-
am- field -
(A) RG] ga'cﬁ L4 {A) Moving magnet
(B) TRl SR W - (B) Moving charge
(e Rex ECEZRY ' (C) Stationary magnet

(D) ReR emw wx ' (I Stationary charge




7o 14 Wea Real TR @A 19 ¥ BT Qn 14. Theelectronic configuration of an element

soqeid fa=ard M- S with atomic number 19 will be -
(A) 2,9,8 " (A) 2,9,8

B) 2,8,9 I B) 2,8,9

© 2,881 o (2 2,8,8,1

©) 2,10,7 - (D) 2,10,7

Ueqd 15. mmmwwqﬁﬂﬁa Qn1s. Aqueous solution of sodium chloride

Bl B - turns-

(A) e foead &1 Hien ~ (A) redlitmus blue

B) o foeaw o oA | ~ (B) bluelitmusred -

(C) < feaq @1 AR ~ (C) red litmus orange

D) AT e Her Rrenw f5 & 0 , M not change the colour of either red or

W BIE I5Ad T8 BT - blue litmus.

e 16 . QA TE T gomﬁ ?{Eﬁﬁ ¥ e S® Qn 16. Two elements showing similar properties

LI s'ﬁ'cﬁ‘f:ﬁ Calkire: i G i due to same number of valence electrons
< B o ~ are-
(A) Ca@MGa ‘ ~ (A) CaandGa
(B) STNO | PBJ SandO
(C©) CTardl - . (C) Cand(l
D) Sidems (D) Siand S
yedq 17. afafpar - . Qml7. In the reaction -
" Zn +FeSO,—> ZnSO, + Fe ' Zn+FeSO,——>ZnSO, +Fe
(A) Zn I WUT BATEl \Q{() Zn gets oxidised.
(B) Zn IAFAHRSD gl ‘ (B) Zn is oxidising agent.
(C) Fe &l ARNBHT BT B | (C) Fe gets oxidised
(D) Zn T Fe QM1 &1 SRIBRT (D) Zn and Fe both get oxidised.
B ¥
aed 18 . 3RIREH & WU B BAGas i Froath floatation process for the
SEU T hagR® 3@9’&’!"1— concentration of ores is an example of the
: S h - practical application of -
(A) THEA BT - - (A) Coagulation
(B) ST B (B) Absorption .
L (© SJAMYRNYOT BT . _ (&~ Adsorption
(D) oEwEd B - (D) Sedimentation




e+ 19.

U3 20.

Th HT@ S el | foFaT ¥ T Qn19. A metal which does not liberate hydrogen

ECIG R HqH TR B gas to react acids -
A) Cu A Cu
®) Fe | . ®) Fe
(C) Mn | (©) Mn
D) Zn D) Zn
4NH3 +30, -> A+6H,0 Qn 20. Identify A and B in the following reaction-
A+0, —> 4NH, +30, ——>A +6H,0
SR 3ififeran § A 7o B ¥ | A+0,—>B
"(A) NO T N, - (A). NO and N,
@) NO @l HO | (B) NOand HO
(C) H,0 9 NO : (C) H,0 and NO
(D) N, @21 NO o (@ N, and NO

Iq 21,

e 22.

©iq KNO, Bl O H =l S T 99 Qn2l. When KN(.)3 is dissolved in water, heat is’

S Iy Bl ¥ 1 afe afvfea absorbed. If the temperature of the reaction
Pl dMbG dei™dl WY <d o TRfm e is raised then according to Le-Chatelier’s
fRygia % FTR KNO, 3 frcrgan- Principle solubility of KNO, will-
(A) H?Z‘rﬂ (A) Decrease ' |

(B) g - (B) Increase

© aRafda <&M ' ’ (C) Remain the same

(D) SR & TR (D) Not be predicted

T N TIESIGH F W BN dlell Qn22. Identify the type of reaction occuring

- aiffepan B | ' hetween ethene and hydrogen -
(A) STFHDR ' (A) Oxidation |
®) frfeem ~ (® Dehydration

(©) IrTEA (Y Addition

(D) iR __ (D) Substitution




U 23.

T 24,

- Wb 25.

Ued 26.

BRI T B 9] TH TR A §4 by which the two carbon atoms can
Wha B . bonded to each other are-
(A) TR - ' (A) Four
® & B Two
© = , ' ' _ \,(Zf Three
. (D) ffeq e & (D) No fixed number
e 9 9 5 o ) 3mafi@ SR Qn24. Which of the following ion has smallest
W B B : ionic radius - ‘
@A Cc+ o - A Cc+
®) F~ | | (B F-
©) N . (C) N*
D) 07 | - (D) 0%
44 '!3I1"‘TCO2 ¥ ot IS B & Qn25. Total number of atoms in 4dg of CO,
Bl - ‘ o ' © s~ ‘
(A) 6.02x 107 - (A) 6.02 x 102
B) 602x10% (B) 6.02x 10*
(©) 1.806 x 10% S £S5 1.806 x 10
(D) 18.06 x 102 i (D) 18.06 x 102
Te AfD I?ﬁl WR?I A CH, T, Qn 26. A compound has empirical formula CH,.
a% fra TsgieEq Aol | wefa To which hydrocarbon series does it
A%-‘- » ~ belong - '
(A) YebH | | ~ (A) Alkane
(B) TsHRITEDH . B Cycloalkane
(©) VeprEd | | (C) Alkyne

Ue{ 27.

Heaie) 4 @Y aifiras e fF  Qn 23. The maximum number of covalent bonds

D) SREH § A PIg 78 (D) None of these

frfofaa 3 @ 29 @ Sard Ry Qp@ Which of the following diseases is not

. T8 BN %;- caused by virus -
(A) @ERT | (A) Measles
(B) diferar | 3B Polilo
(©) N @R : \j,@s Whooping cough
D) & | (}Q{ Rabies ’




Ueq 28.

e+ 29,

UH 30.

e+ 31.

yed 32.

H W DA AP T clotting of blood -
(A) O T BB . (A) Red Blood Corpuscles
B) TIT T BB (B) White Blood Corpuscles
(C) arawT (C) Lymph
D) TH JREEHN . P Blood platelets
U] At - . Qn29. Spinal cord is related to -
(A) WETIE (A) Reprbductive System
(B) I AT (B) Excretory System
(C) tE 93 \(Qf Nervous System
(D) T AT | | (D) Respiratory System
g’é’ﬁ ¥ 77 WM a1 IS & G\T\H’l ?I Qn 30. The type of Joint found in knee is also .
virs fr=ifelRaa & @ fores arn s found in which of the following -
T o
A) HENH - (8Y Elbow
" (B) HHH (B) Shoulders
(C) HIBHI (C) Vertebrae
(D) @oE (D) Skull
Qﬁﬁmﬁ?@mgﬁm Q/@ Urecotelic animals are those that
et o1 Se Wj@ﬁ fra w9 H eliminate the Nitrogenous waste
H B predominémtly in the form of -
(A) IR® s .(A) Uric Acid
(B) 3mIFmT (B) Ammonia
(C) A arReT (C) Amino Acid
D) afm \@Z{ Urea
ferafoalaa § @ o= 5 @ gaan Qﬁé/ Which one of the following is a Primary |
&1 I SuHaR & Consumer of any food chain
(A) HEERY (7(} Carnivore
(B) WM&HTERT -(B) Herbivore
(&) ﬂ?ﬁq_u:ﬁ?f , (C) Saprophyte
(D) (B) 3R (C) T Mioth (B) and (C)

&R 61 AFD1 997 & forw FrafeiRaa Qn 28. Which of the following is essential for




Vel
s

127 23, Prafafeg 3 4 B 0w o v Q@ Which one of the following is not a
TR _ modification of leaf - |
(A)y TEEGRY T DRI {4) Pitcher of a pitcher plant
(R) TS B UEHE &) Bulb of Onion
() q{aa—gﬁﬁrﬁ T ET . | ﬂ§ Bladder of Utrictlaria
K D‘} T T qf::% RIS | (1) Leaf spines of Asparagus

’%‘ﬁﬁﬂ' TR ERAE B TAERF WY Qn 34. Insulinis a hgrmone. Chemicallyitisa -
4 T - | :

(A UEH . e \M Protein

®) wHEEze o (B) Carbohydrate

(© T , . (C) Fat

D) wEOTS ' - (D) Steroid

Tr=fafaa A ﬁ B W’Fﬂﬁ : W@fﬁm On 35. Which one of the following is commonly
GRS B T 3 ST ORI "IN known as malarial parasite and causes
A Au e B ¥~ malariainbuman- |
(A wreREE - 4 Plasmodium
®) e | (B) Paramoecium
©) vfrE | (C) Anopheles
(D) eriar | | (D) Amoeba
Prafifea YA P9 W s STETH  Qn36. Which of the following organ is not
Yidfta 78 B~ involved in excretion -

(A) BHS - : (A) Lungs

B) g | (B) Liver

(C) (C) Skin

(D) TR (@Y Stomach

FHI13e1 e W A= $Y9 91 Qn37. Which hgrmone is helping in cell

EIRRE %," = division -

(A) tRals erei | (A) Abscisic Acid
(B) wgcraERE L,()ZS Cytokinin
oy o : " (C) Bthylene
(D) e g ' (D) Gibberalins

8




we 38.

U1 39.

Udq 40.

yeq 41.

U9 43.

U9 44,

AP M@ A S ¥~  Qn38. Whichisa worm blooded animal -

(A) IR _ ) Pigeon

B) P ®B) Frog

(C) ogan (C) Turtle ,

(D) ©rST A (3T (Rudreaad) | (D) Sea Horse (Hippocampus) -
WbRAfes B 4 78 uran arr- ﬁ@; The Procaryotic cell does not contain -
Q) TrRE (K) Chromosomes | |
®) SIS ), Mitochondria

(C) TeIrs T e (C) Plasmamembrane

(D) ‘\’TEE?I@'H , : ‘SQ/) .Ribo»some

R ] F frafaifRaa ¥ 4 f59 s ¥ Qn40. Which one of the following is the main
1= 34 q WS BT FEENTYT I ~-organ for absorption of food in human
- | _ being- | |

(A) ST 3@ - (B) IPd «X) LargeIntestine (B) Liver

(C) IMEE™ (D) B & (C) Stomach (D) Small intestine
wriivE B T gE- Qr;@ Third battle of Panipat -

(A) W 1526 (B) & 1556 (A) 1526  (B) 1556

© =|11770 (D) ¥{1761 4@{1770 »(D) 1761

X<IR ?Fgﬂ'q P B RT3, Qnd2. Indian National congress founded by A.

i)fume-
(A) 91 1885 (B) ©71886 ) 1885 "(B)_ 1886
(C) 911887 (D) w1888 (C) 1887 (D) 1888

AT e BT ARAAAG TH T Qn 43. What was the original name of Mumtaz

o? , Mahal?

(A) @'Gj'fl‘q’ M T \L.A)/ Arjumand Bano Begum
(B) forar I o (B) Raziya Begum

(C) TEEF AT | (C) Gulbadan Begum

(D) XTFEIIRT T ‘ (D) Roshan Ara Begum'

R R ATHHO] B THY TS Q\@L/ During the invasion on india which Greek

& 1 Wt s R sman o, a9 a1 - intellect accompanied Alexander?
(A) s | (B) wal ' (A) Herodotus  (BJ Strabo
© frwa (D) aRzw ~ (C) Nearchas (D) Arian




YA 45

U39 46.

e 47.

Ue 48,

T 49

U9 50

Ue 51

. TTERY 29 § yduer Menfre Wifd  Qnd5. The beginning of Industrial revolution in

BT AT F3TT— western contries started in -
(A) R (B) °9 (A) America (B) Russia
©) wE ®) gvs (C) France «qa;/ England
PIAGRH- o S QJ@ Kanchipuram -
(A) T & wEE K (A) Capital of Cholas
(B) Ucerdl & raieR & - (B) Capital of Pallavas
(C) =gl B e | (2" Capital of Chalukyas
(D) ved @ R (D) Capital of Pandyas
IR ¥ YHIRTT B9 a1 WUH 3[GIR - Qn 47. First newespaper published in India
99— ' was-
(A) W ysEr - (A) Om Prakash
B) Ng PIA (B) Sambaddha kaumudi
(€) <= MER - ~ (C)__Rast-Goftar
(D). ¥ ToIE o . D) Bengal Gazzet
T vl Fyaded A- , Q@ The Founder of Judaism was-
(A) SISTEH (B) Tl | «;e/ Abraham Ve{)w Moses
(C) SRS (D) INREH " (O) Zolwastra (D) Augustus
. YIRS BT 91 A g $9 gan? Qn 49. When did the war between India & china
- ' | take place? o v
(A) §[1960 (B) ¥ 1961 _(A) 1960 B) 1961
(C) §11962 (D) |I1963 Y 1962 (D) 1963
. qifed @ an? Qn 50. What was Bastile?
(A) B IgT 9 o \f}(f]t?,iggest jail of france
(B) I &1 9gd ¥l o ‘ (B) Biggest gym of france
(©) Big &1 9ga 991 Rex (C) Biggest theatre of frarice
(D) Wi BT 9§ 991 MeA . - (D) Biggest garden of france

.9 TR B AT TR A? - Qn 51, Also khown as “Frontier Gandhi.”

(A g B T | "(A) Abul Kalam Azad
(B) 3Igel TFBR EH | \(/B/)/f;bdul Gaffar Khan
(C) e sl o (C) Shaukat Ali
(D) RR arel N (D) Nasir Ali

10



U 52.

9edq 53.

W31 54.

U3 55.

9 56.

- WA 57.

(A) SwRiadd

Hed 58.

Tl 1 faTor gom—
(A) 11920 (B) W11907
(€ |11905 (D) W{1919

g fag, fawafdene
9}_ .
(A) Sl PV

(B) e TMeN

(C) WeETHE HIeAad
(D) IR e

HIRE BT SRTe P WRH 3?7

F ARATID

(A) T 1942
(C) W1 1945

(B) W 1943
(D) 971946

= wraRd i foran o1
(A) XEFETT SR

(B) IRTT

(C) dfpa Tesh

(D) g T Fcoll
yREr Afeen BF B2

(A) TR U

(B) wemaZ ol

() e g
(D) fEa s

Sard) S —orfer ar Rerd ¥
@) fai
(€) Yo (D) SEEl

e 3 SeR-uRe W ¥ v #
21 e a9t B RO -

(A) TRHIRE T

B) uftEdAr faenw

(C) Tredn g AL

(D) féyor aided AT

Qn 52. The partition of Bengal-
(A) 1920 B) 1907
1905 (D) 1919

Qn53. The fouder of the Banaras Hindu
University-
(A) Dr. Radhakrishan
(B) Mahatma Gandhi |
Y Madan Mohan Malviya
(D) Indira Gandhi |

Qn 54. When was the Quit India movement

started?
&« 1942 (B) - 1943
(©) 1945 D) 1946

Qn 55. Wrote, «“yande Mataram’-
(A) Ravindra Nath Tagore
(B) Sharatchandra
VQC)/ Bankim Chandra Chatterji
(D) Girish Chandra Chatterji

Qn 56. Who was the first Indian woman to reach
the highest peak?
M Bachendri Pal
(B) Malavath Purna
(C) Harshita Sumitra
(D) Dicky Dalma

Qn 57. Nanda Devi bio-reserve is located in-
Uttaranchal ~ (B) Delhi
(C) Punjab (D) Orissa

Qgszg,/ Rainfall occurs during winter in North-
Western part of India due to - ’

- (A) Cyclonic Depression
iB) Western disturbance

(C) Retreating Monsoon
(D) South west Monsoon

it



B qd T W BN T PorReO- - Q{@// Tropic of cancer does not pass threugk -

Ied 59.
(A) IoRAM (B) Bt (A) Rajasthan (B) Tripura
© wxREvs D) fER +(C) Tharkhand (P Bihar
WY 60 . WA 3B THHN TP M E? - Qn 60. Whichis the brightest planet-
(A) g ®B) gr (A) Mercury JB’{ Venvs
© &R - (D) oW (C) Jupiter (D) Sun
e 61. 23 RrawaR 31 m T31 ﬁ? HEl The longest day, 23rd September wilt be
?]Tn? . on- ’
(A e Y N Equator
(B) 23Y2° S s . (B) 23Y%4° Northern Latitude
(C) HH T o ' M Tropic of capricorn
(D) 50° =R serw (D) 50° Southern Latitude
U 62. - &9 P E‘T\’ W €, 81 Qn62. As we move to higher altitude, the air
| BN T - - : becomes-
(A) & (B) <E9 JA{ Light (B) Dense
(©) T ©) I . (© Dry (D) Moist
¥ 63 . Y-F& Tl W Y—& P FPId &~ Qn 63. On earths orbit surface, the earth’s axis
' K | is tilted at- :
A) 90° (B) 23%° - ©(A) 90° B) 2315°
©) 0° D) 66Y2° (C) 0° N M 6612°
v 64. Rva @ Wﬁ‘gﬂ &9 - Qn 64. The biggest island of world is-
A) =g (B) @ifrar (A) New Guyana (B) Borneo
© #dvs (D) AT (Q)/ Greenland (D) Sumatra
WeH 65. gf¥eil e feran & oty B - «./;@ The capital of western Australia is- -
A) s ®B) HAERT / A) Sydney (B) Canberra
(©) HeRr (D) g - (C) Melborne (D) Perth
¥ 66 . WD H Har= B & Qn 66. The highest peak of Africa is-
(A) =T B) f%‘?ﬁﬂﬂrﬁ (A) Nyasa JB)/ Kilimanjaro
(C) B (D) UM (C) Kenya (D) Elgen
NTSE-II | 12 T

ST W




e 67, o B -
(A) HH

(C) B

- ® ¥
©) O

mea.m%{&waﬁaﬁaﬁﬁm
4§ wa 95 e B |
A) qiee fa B) T A

(© WREAT D) TRAA

mﬁﬁmuwa‘smﬁiaﬂ
Sifdrepen &7 |

(A) SO GEEER I

(B) SWI UAE I

(C) T FoRYAT T

(D) ORI I

UTq 69.

R B a9 BTl MEIEY D 6
g?

(A) TRmn
(C) -3TBIhT

We 70

B) 3R
(D) <fm @RS

wR Hafid B

(A) GI BT BN
@) Rien o1 HER
(C) B T DR

(D) <hae &1 BT AFHR

we 71.

Rrpradiial 91 S DA A WE A€
B -

(A) T AU PV BN

®) Ted TR

(C) gea e

(D) @ aFe faHrE

wedq 72.

2011 ) T O & ATAR WA
zﬁm@1mﬁzo11zﬁ‘12ﬁ-

(A) 121.0508 (B) 100.2 IS
(C) 99 oom (D) 98 00 TS

WA 73.

({lﬁ) The currency of Germany is-

(A) Marck (B) Frank
(C) Crone v -{g?f Drachma

Qn 68. The famous and the largest lake along
the Indian Eastean coastal plain is-
(A) Pulikat lake Chilka lake

(C) Sambharlake (D) Waularlake
/

Q@ Which is the most dominant type of
- vegetation in India is-
" (A) _Tropical Evergreen forest
) Tropical Deciduous forest
(C) Tropical Desert Forest
(D) Tidal forest

Qn70. Which is the smallest continent of the

- world?
(A) Asia (BY Australia
(C) Africa (D) South America

Qn71. “MNREGA? is reffered to-
(A) Righttoinformation
(B) 'Right to Education

r,eCﬁ Right to work

(D) Rightto protection of life

Qn 72. Which willbe a feature of the developing
country?
Agriculture as the main occupation
(B) Mass poverty
(C) Massilliltracy
(D) High technological development

Qn73. According to the census of 2011, the
population of India on 1st March 2011 was-
y{ﬂ 121.05 Crore ~ (B) 1002 Crore
(C) 99.00 Crore (D) 98.00 Crore

NTSE-Il

13



Ued 74.

ﬁwﬁ'«ﬁmugmasm’rmﬁaﬁ%—

Qn'/A. The Headquarter of world Bank is-

(A) ST, ReaeeRavs (B) U (A) Geneva -(B) Newyork
(C) o= (D) TRiTeT €14, (C) London  (B) Washington D.C.
wed 75 . AEifie Arg R feaw A Bwen  Qn 75. When was Universal Human Rights day -
 WTE - o declared - v
(A) 1 S&CER 2001 (A) st October 2001
B) 10 fegaz 1948 10th December 1948
S (© 1 H™ 1950 (C) 1stMarch 1950
D) 1 3 2000 (D) 1st April 2000
WY 76 . WY U WY 6 WAYH 9 D Qn76. Who was the first secretary General of
q? | UNO.-
A Bradh ®) gaie & Tryavelie (B) Uthant
(C) ¥1. T4 dr’ed (D) PIBI (C) Dr. Kurt Waldheim (D) Kofi Annan
e 717 Hﬁ?ﬁ'@ ¥ AR o1 TR YIWIIH 7. The templetown of Rameshwaram in
IH W oM i § WA e? - Tamilnadu related to a great person -
(A) Sl T, qUIHYH (A) Dr. S. Radhakrishan '
(B) £ IR, JHeHY (B) ShriR. Venkatraman
(©) ©1. TN, 3egel HeH JC) Dr. AP.J. Abdul Kalam
(D) ®. IR, RiEwwH (D) Dr. R. Chidambaram
W 78 . AR At ghreH & e a1 A fufved Who is the author of “Log Walk to
PR~ ' ' . ' Freedom”?-
(A) ToHT U3 (B) Ad uPe \y() Nelson Mandela (B) Levy Patrick
(€) W TN (D) A9 T (C) Robert Mugabe (D) Sam Nujomo
e 79. D W AfAd ANFR B 449 F@E  Qn79. Which fundamental right was abolished
ffrem & g™ R 1978 H & by the 44th amendment act in December
fr wn? 1978? -
(A) qGFA 1 ARSI (A) Right to Freedom
(B) Hfd &1 APR ,,(rB)/ Right to Property
(©) T & Aoy IR (C) Right against exploitation
(D) GAMC BT TSR (D) Right to equality
ST 80 . TqOF WIRA & UYH T I 4?  Qn80. Who was the first prime-minister of
Independent India?
(A) UfeT TarERea 785 (A) Pt. Jawaharlal Nehru
(B) ST TEIGY AT (B) Lal Bahadur Shastri
(©) - SRy e (C) Indira Gandhi
(D) WET W (D) Mahatma Gandhi
NTSE-II 14



1 1 . . 1
‘ ueag. 3 IR 1 ¥ 41 B e RFg d= Qn8l. One Rational number between and
| . 1, |
- ¥ - i
‘ 18 22
=2 el 18 22
® 100 ® 100 | ®) oo B
26 27 ' :
= = 26 227

cans uf AsB=2:3, B:C=4:5 3R Qn82. IfAB=2:3 B:C=45 and

C:D = 6:7 @ di A:D &1 HH BAN— C:D =6:7 then the value of A:D will be-
(A) 7 | ®) 7 GV ® 7
1 16 7 . 16
© ® 35 © 5 P 3
s o el 31 ol 6 ¥19fy TG Q83 The mean of eight number is 6. If each
e B 2 @ o e g @ number is multiplied by 2, the new
a2 mean will be-
A) 3 B) 6 (A) 3 B) 6
© 12 D) 96 g/ 12 D) 96
VT 4 maﬁ 3.4,5,6 ...... 25 ¥ 4 ws Qn84. The probability to select a prime
STy <t o o uwRea - number from the numbers 3, 4, 5, 6,
..... 25 will be-
7 8 1 8
® o ®B) B o3 B 5
9 | 10 9 10
(©) 3 ®) 5 ©) 53 ® 5

s 5. 9 A R 2R el @ 3/@] I Qn85. The total number of two digit numbers

Wl o Pl HEl B which are divisible by three will be-
Ay 30 ®) 31 ¥y 30 ' (B) 31
<€) 32 _ D) 33 ©) 32 (D) 33




' msa.wﬁmﬁ%ﬁﬁaﬁﬁﬁsmzs, - Qnggg. Marks secured by a student in various

26, 27, 28, IR 29 ¥l wwis '27'
Ty

(A) dSgddd -

(B) Fgod AR AT

(C) e SR AT

Y¥da817.

Yyv{88.

Y+89.

W¥H90.

D) e, Hftasr AR gD |

)

Qn §7.

n

B

,;@(1_1 2

1 ‘ 1

@ —(+) @ -1
1, 1

© S+ @ (-

IR x+y=7 AR 3x-2y=11 A A Qnss.

« 14T BNTi-
(A) 5
©) 7

B) 6
© 8
M x* =y, y' =2,z =x ANTE Qnsy.
A BN | |

(A) a.b.c=1 B) ab.c=0

(C) a+b+c=1 (D) a+b+c=0

ﬁﬁé‘m‘éwﬁﬁwﬁﬁia&raﬁ Qngg.
< ¥ , |

(A) 2
B) 4
< 1
(D) 0

subjects are 25, 26, 27, 28 and 29. What
does the mark '27' denotes? |
(A) Mode
(B) Mode and median

,(Q{‘ Mean and median

;A(D) 'Mean, median andv mode

The sum of 'n' terms of_series

BIEIE
, n n
1 1,

A —(m+)  ® —(n-1)
n n- o

© 300 gf > (n-1)

1
n

" be-

If x+y=7 and 3x-2y=11. Then
the value of x will be-

5 ®B) 6
o 7 D) 8
$iqt
' \i’é:f‘
If x*=y, y*=2,z°=x then the

correct statement will be-
(.Kfa.b.c:l B) ab.c=0

(C) a+b+c=1 (D) a+b+c=0

Number of axis of symmetry in the

following figure is-

(A) 2 ‘ ’1 /
& 4

© 1 -
D) 0 /

16




Y91,

79192

IR +3Ix+2AMX+5x + 6d1 Qn 91 If highest common factor of

e WHTRIS X+ 2 8 A 2’ BIHH

-
(A 1 B) 2
(©C) 3 D) 6
_._‘ﬁo+fzs+\ﬁ08+,/1s4+,/2zs '
(A 4 B) 6

(D) ‘10

Ye93.

< 8

X s e Rem gz g s Rimgafi (0,0) Qo 93,

@ (2, o)éwg&w%—

S .1

®) . (1,1
© 1,0
® ©.2)

| R wdaa € 1 p A B
3 o 8
® 5 C® 3
(C) 6 D) -6

geH95.

ﬁﬁaﬂ%aﬁmw 3/W., Qn9s.

4. 3R 59 ¥ 139 AR TP

a@mmwlﬂqvﬁﬁiﬁﬁw
-

(A) 1294,
(C) 8¥Hl.

(B) 9¥HI.
(D) 6.

Qn92.

mé_zf:!iﬁ%?:y- 2x=4 S?I'\' 4y - px=2 Qn9%.

X +3x+2and X* + 5x + 6is X+ 2,

then value of 'a' will be-

A 1 ¥ 2
© 3 D) 6

The value of

'\ﬂl+\/'5+\f08+ 154+ 225

will be-
K ®) 6
C) 8 (D) 10

Point on the X axis which is equidis-

tant from the point (0,0) and (2,0) is-
A) (0,1)
B) (1,1)

o w0

D) (0,2)

If 3y-2x =4 and 4y- px =2 are
perpendicular to each other the value
of p will be-

NES B o
&) 3 ® 5
©) 6 &y -6

Radii of three solid spheres are 3 cm,’

4 cm and 5 cm respecitvely. They are
meited and converted in to a bigger solid
sphere. The radius of the new sphere

will be-
(A) 12cm (B) 9cm
(C) 8cm Dy 6cm

—




HeH96. wmaﬁwﬁgamuﬁm 24@% Qn96.

W97

¥1af 7l 10 A 2 A vw B
ATFe B .
B) 22992

(A) 202

© u¥: @) 2%
fogfEd A
PB=24 . O.- \""u /{;/’
OP=25 J4\.
'PA‘ R PB qﬂ \j//B
'.PAah'\rOBa‘?ramgm__

(A) 2499, 799,

(B) 25%4., 79

(©) 24, 139,

D) 25¥, 1294

YIH98

T w e g TR TR

Qn97.

Qn 98.

- 9% 9 goIeR 10 BT § 9 wuiaR 25+

U¥q99

fire 9@ 3% 99 B

(A) 154392  (B) 77 99
N 77 . .,

- (©) 7@% (D) —;w-

.TF A IR 4 AR o1 B T a9 &

TP EABA BN

(A) 27 & TN

(B) 87 [

© 4z W

D) & W’ ‘

5 Sin0-3cos0 -

- W00 '{rﬁ: tan()—— ?'?h SSm9+3c0s0 @

W Fr-
v et ool ol
w3 ®; ©F D

' Qn'99.

' 4
Qn 100. If tan0=g

The perimeter of a right angled triangle
is 24 cm, If the hypotenuse is 10 cm.
Then area of this traingle will be-

(A) 20 cm? (B) 22cm?

© 24 cem? (D) 26 cm?

In the‘given figure :._ﬁ\ﬁ_{_ P

PB=24 cm N

OP=25 cm, @ /{/ ’
'PA and PB are ‘/ ?

tangents of the mfcle ’

The length of PA and OB w111 be-
M 24 ¢m, 7 cm '

(8) 25cm,7cm
(C). 24 cm, 13 cm

(D) 25cm,12¢cm

The le'ngfh of minute needle of a watch

is 7 cm. The area swept by it during

" 9:10t09 : 25 will be-

(A) 154 cm? ®B) 77 cm2
: 7 1T
\(9/_ 5 cm | D) 1 cm

The square of side 4 cm. is inscribed
the circle. The area of the circle will be-

(A) 2w cm?

‘ \,ﬂ?))/ 87 cm?

(C) 47 cm?
D) 1 em?

N

then the value of

5 Sin0-3cos6 |

SSm9+3c056 willbe - .
5 9 1

@ 3 (B) S © 5 DF g
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SAT

Sno

10
11
12
13
14
15
16
17
18
19
20
21

22

23

24
25
26
81

82

83

84
85

86
87

88
89
90

91

92




93

94
95

96
97
98
99
100




v =u’ +2as

E o=u"-2gh
1 2gh=u’

2. 1Fermi =10""m is lower unit

3. Equivalent resistance circuit diagram

A - fn 231
‘[' 12
=22 oy
Reg 6
6SL
Y —[

SAT Solutions
PHYSICS

(Answer B)

(Answer A)

(Answer C)

4. Apparent Weight of the body inside the liquid weight in air ~upthrust

(ANS.D)

mg-Vip,g
Vd)g-Vpg
vdg-vp,g
v(d-p)g

5. Relation Between «,f and

2 2
=2y =2%x72x107°
p 3}’ 3

(v, =v . body 1s inmersed completely)

(o =b)




=4.8x107¢™ ' (ANS. D)

6. A Convex mirror always forms virtual, erect and small image. (ANS. Q)
7.1in 12 hrs. Needle of clock completes one rotation. (ANS. D)
8. Li‘ghtening conductor is mode of copper. (ANS. B)
g p_y_Fs_mgh_vpgh
t t 4 4
50x107° x10° x10x 25

XY X : XX 2500watt (ANS.A)

10. Every parts of the lens makes complete image of the lens. (ANS. Q)
11. Direction of magnetic field at the centre will be outward. (ANS. D)
12. Soft Iron is most suitable to make electromagnet. (ANS.C)

13. F =9vBsin# is the force on a changed particle is a magnetic field .

g (ANS.D)
i .

CHEMISTRY
14. 2,8,8,1 It is according to auf bau principle. (ANS.C)
15. Nacl can’t turn litmus to any other because itisaneutral salt. =~ (ANS.D)
16. Oxygen and sulphur belong to same group. (ANS.B)

17. The 0.S of sulphur of Zn in left side is zero and right side is +2.hence it is oxidized. (ANS.A)

18. *i‘he ore particles are adhered to the Foam. (ANS.C)
19. Cu is below to the hydrogen in reactivity series. (ANS.A)
20.4NH, +30, > N, +6H,0 (ANS.D)

N,+0, - 2NO




21. Since the dissolution requires Heat absorption (endo thermic }increasing temperature

increases solubility. (ANS. B)
22.CH,=CH,+H, »CH,-CH, (ANS.C)
23. Fourth bond is not possible because of its unstabity. (ANS.Q) ‘
24. For iso electronic species : size « e Charges. (ANS. B)
+ve

25. Number of atoms =nx N x multiplicity

=ﬁx6.023x1023x3 |
44
= 1.8x10* (ANS.C) ‘
26. Cycloalkanes have E.F' CH, (ANS.B)

MATHEMATICS
|
1(5) (3)
5 4
1,20 20 22 25
5 100 100 100 100 ‘
1.2 (ANS.B) |
4 100
g A2 B_4 C_6 |
B 3 C 5 D 7 |
"4 A B C A 16 |
=X —X— —X—=X= —=—
D B C D D 35
83 obs Mean




ax,,ax,,———axn —> ax

a=2 New Mean 2x6=12

84. Prime no. from 3 to 25

3,5,7,11,13,17,19,23

P

23

85.12,15,-------- 99

Tn=a+ (n —l)d
99=12+(n-1)3

8% +1=n

“n=30

86. Marks obtained

{25,26,27,28,29}

odn :{25+26+257+28+29} _(27)

mediam = {27}

mode =

All has some prepvency so any one possible. ' (ANS.C)

87. (1-1)+(1-2)+(1-2)+----(1-%)

= (—J (ANS. D)




88.

y=(7-x)

3x—2(7—x)=11

3x-14+2x=11 (ANS.A)
Sx=25

x=5

89.X°=y,y’ =2,2=x

x? =z (ANS.A)

91. x> +3x+2, () x*+5x+6 (ii)

HCF =(x+a)
x=—a isarootof (i) and (ii}) on solving.......

x? +3x+2=(x+1)(x+2)

=>x=-1,-2
x*+5x+6=(x+2)(x+3)
=>x=-2,-3

x =-2 is acommon root




(ANS. B)

92 \/10+\/25+ 108+ /154 ++/225

J225 =15
J154+15 =169 =13
J108+13 =121 =11 (ANS.A)

(1,0 is the midpoint of A and B so Option (C) is Correct )
94.3y-2x=4————(i)

4y — px =2 ————(ii)

{22

Somyxm, =—1

2,2 (ANS. D)

34
p=-6

95. Initial volume = final volume

i7z{33 +4° +53} A op
3 3

LR =(3+4+5) (ANS.D)

. R=3J216

R =6am

96. P+b+h=24

(ANS. C)




p+b=24-10=10—————— 0)
and....p* +b* =100

(p+b)’ —2pb=100 | |
14> =2 pb =100 b - |
2pb =96

pb=48

B
®©

FROM (1) and (I1) P=8 B =6 A b

(p-b)' =(P+b) —4pb
—196-192

(p-b) =4

97. APQ

PB=24

OP =25
PA=PB=24cm
OB ="Tcm

2
76 2.8 15min =15x6 = 90° 1
360° 7360

98. 4=

77

2

99. AB=+4*+42 =42

100. tan @ =%

in@— 6
M TAKE cos 8 common from Numerator and Denominator |
5sin@+3cosf |




cos&{SSHle-—3}
cos@

056’{5 sin 0 +3}
cosd

5tan9—3}
5tan@+3

5x4-3
5x4+3

{l} (ANS.D)
7
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